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96. Arrange the following phases of motor learning in order of correct
sequence.

I- Phase of fine Co-ordination
[1- Phase of rough Co-ordination
[11- Phase of normal Co-ordination

IV- Phase of automatisation

Code :
(LI HL IV (2) I HLILIV
(3) 1,111, 1V (4) LI L IV

dArga #1 f=fefaa s st & @ w9 ° aafug fifmu-
| afronifaa =g 37gven
11 39N g9<4g g+

I 9H 9599 JAdE

IV EETET ST
(1) 111 UL IV 2y LUV
30 LTIV (4 HLIL1 IV

97. A score to which an obtained score in compared :

(1) Norms (2) Data

{3) Grade (4) Primary Score
ge w@hi7 BrEd d Iee @R A JEa A A 8 o
(1] HI-=F (2) 31T

(3) T (4) OTITRNE T
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ROUGH WORK
T wrd

46
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120.Which is not the principle of lesson planning :

(1) Rigidity (2) Flexibility
(3] Realistic Nature (4] Specificity
R o | e B e et G o

(1) “TheH (2) A

(3) aRdiae® depiar (4) fAfsrezTs

45 900
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117. Anticipation and selection of correct response are the major factors to

detrmine :
(1] Simple reaction ability (2)  Complex reaction alnlity
(3) Moment time (4) Reflex arch

(1) Arereer gfafar gegar (2) wfes ufafaar
(3} 9 793 (4) dfdfsar smF

118.The art of competing is called
(1] Tackling (2] Strategy

(3] Performing (4]  Tactics

(1) ZaFfE (2) e 770
(3) =T 4 3

119, Intramural programme creates g sense of
(1) Involvement (2} Humor

(3) Enjoyment (4]  Achivement

Aty gfadifiEr g9 Hguron § uwe Fedr B

(1) afwfesa g+ # (2) =
(3} HAAA (4] FTEEA]

a4
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114. The arrange ratio in blood between plasma and cell is :

115.

116.

(1) 45:55 (2) 55:45
(3) 60:40 (4) 50:50
T H @oET ud &Yl & e & STU Bl @
(1) 45:55 (2) 55:45

(3) 60:40 (4) 50:50

Instrument for measuring fat is :
{1}  Anthropometric rod (2) Tensiometer

(3) Skinfold caliper (4) Flexometer

g9T H HITH & = B

(1) 3T=aamHfees 1= (2) efar dex
(3) T=F9 wiTg A7 (4) TAFE! Hiew

Eccentric -concentric movements occurs imn |
(1)  Cychic Movement (2) Explosive movement

(3) Circuler Movement (4) None of the above

fgamg - fags nfa & 8
(1) =g 7 o (2) faeptes g H
(3) e (gEEEr) T H O (4) Iuded HiE A€

43 P.T.Q.
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T BT el i

FA- 1 H9- 11
gefaay FAl wraror fafy
(a) =& ya UBEIEREIG
(b) &% & A (i) FEFT
(c) ¢fe ag =g (ili) eHAdFTH
(d) ATFA= T (iv) AT
(1) IV, 101,10 (2} LML IV
(3} HLILL IV (4} IV, I, 1

112, 5elf validation theory is associated with ;
1) Motvation (2) Personility
(3) Confidence (4) Posture
gh duFE e 1 HJhe B o
(1) T (2)  eidam
(31 fasgrd (4) 21917 ST

113. The contractile element of muscle is :
{1) Sacoplasm (2) Perimyisium
(3) Epimaysium (4)  Mvofibril
qraasht & fags aw &g ¥ -
(1)  Hhemd (2) w¥mrefagy

(3] TrEETERiEgY (4} ARG

42



109, Cartilage is a :

110.

111.

(1) White-red substance

(3) Red-blue substance

FifeasT e 8
(1) TH-TTel acd
(3) FAA-HI dd

18P/222/13(i)

(2) White-blue substance

(4) Red-yellow substance

(2) T he-Har d
(4) aA-dien T

Capicity to do work by virtue of body's position 1s :

(1) Kinetic energy

(3) Mechanical work

(2) Power

(4) Potential energy

oTiy &1 Feerfy & o g & & gEar &

(1) wwEAfeEw FAt

(3) F=HE FAl
Match the following :
List : I

Modelites

[} Whirlpool

(b} Ice Packs

(c) Short wave diathemy

{d) Vapocoolant sprays
(1 IV, 1101
(3 ML LIV

(2) &
(4) Rafgs &
List: 11

Mode of Transfer of Energy
(i) Radiation

(11} Conduction

(1ii) Convection

(iv) Evaporation

e o M
(4) IV, 111,11

41 P10
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106.

107.

108.

S e S B 22 A e )15 e 5 o B 1 e o [ o o R s P B TR O

HIgq AT g 7

(1) g1 ar= (2)
(3] gz 3 (4]
Tactile function 1s associated with
(1] Taste (2)
(3) Special sense organs (4)
w9t FE & HEy § o

(1) == A (2
(3) Tafer= sme==t a7 (4)

Intera cetluler luid Lies within the -

(1} Tissues (2}
(3} Ciha (4)
FEIHGAT 24 Bl &

(1] 3w H (2
(2] #HifwEr | (4]
Sodium excess oecurs in

(1)  Liver failure (2)
(3) Brain failure (4)
qifzam &t 1famar 8 8

(1) I%d FvE e 97 (2)
(3) AlvE=F =379 84 97 (-4

40

T S
EUEAC S BEEE

Touch
All of the above

EREIRS ARt}

Cells

Musecles

FilyrRT o
IEZ It BT

Kidney failure

Memory loss

e AE B T
qEET9T FH B 99
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102.The graphical method of studying dispersion is called :

(1) J Curve (2) S Curve
(3) Lorenz Curve (4] Scatter Diagram
fqamor segd g v faser fafy & wed §
(1) Slo a® (2) THo T
(3) &9 g (4) whet R
103.The questionnaire in which sequence of question is followed is called :
(1) Disguised (2) Undisguised
(3) Un-structured (4} Structured
i ge=maeit # ®Has 999 8id &, IAF Fer A §
(1) BZHag (2) Tq=
(3) srEmied (4) Hufza
104.In sports speedometer measures
(1) Kicking ability (2) Speed of Refree
{3} Distance covered (4) None of above

met # afretdEer o qa FHvar 8 7
(1) fewfRT g (2) g @t g
(3) @3 H 7 gh (4) IgUIT FE TEL

105.Bv which of the following dynamic or Isotonic muscular endurance is

measured ?
(1) Push ups (2)  Pull ups
(3) Sit ups (4) All of the above

39 P.T.O.
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98.

99.

Cooper's 12-minutes run- walk test measures ¢

(1) Agility (2) Strength

(3] Speed (4) Cardio respiratory endurance
FAT 12 [MiTE I9-arE-90a 217 B oAy s o7

(1) =TT (2) dAmEHA

(3) e (4) B39 Ud sgH a7 & qeayeE)

Anatomical age can be decided by :
(1) Height of Skeleton (2] Calendar Year
(3) Secretion of Hormones {4)  Ossification of Bones

T T wEEdl g e A G B fMaifra # owed 2o

(1) HhIeT F T2 o (2) fafesry 4
(3) =T H (4 sfegafag g

100.In long jump wind velocity is measured for the period of ;

101.

(1) 15 seconds (2] 20 seconds

{3) 5 seconds (41 10 seconds

! Fa GfEeT § arg oA e oAum F Boarn oway o

(1} 15 TFve (2] 20 dqFUE
(3] 5 AFv= (4] 10 HFoe

" Reactive Method' is also called :

(1) Plymetrics (2) Eccentric

(3) Concentric (4)  None of the above
(1) wirgHfes (2) Fe=ma

(3) FaEHsH (4) I RE A8

38
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95.

sifry Oty afaEt # FHen sEAE & § maves -
- Ao 83y

- @29 u=ifaag

- vegfegr AfFrs

V- Eg IS

HS
(1) LILOL IV (2} 1L LIV
(3) IV, 111, 11 (4] 1L, 1TV,

Arrange the following phases of presentation techniques in correct

sequence.
|- Demonstration l[- Explanation
[11- Practice IV- Feed back
Code :

(1) ML IV, LT P ) 2 .
(3 HIL IV (41 IV LTI

RHEFT & et 9 w J39 w9 ° o =Eiys FiEe -

P geef il =

[ 319419 Iv afegfe
Hs

() ILIL IV I (2} LILIL IV
(3} UL IV, L1 (4] IV LI T

36



93.

94.

18P/222/13(i)

0eh e @ fee "y &1 Fretetaa stgwenstt @l gered & e "
g Hifu-

—

- fefem - &4

- g faee V- el
FIE

(1) IL1uLLIV (2) I, LIV, I
(3) LIV, 1,11 (4) IV, IL 1L

Arrange the stages of acquisition of knowledge in sequential order :

[- Analvsis lI- Information
[1I- Evaluation IV- Application
Code :

(1) [, I, NI, IV (2) I, 0, IV, 1
(3) IV, 1,10, I (4) I, I, IV, Il
ST WITE ol a3l & FHHgE Sifad-

- fareeraor I1- g1

[1l- Fedreh V- 3TIan
HE

(1) LI I (2. I, HI P, ]
(3y IV, LI T (4) I, 1, IV, 1II

Arrange the skeletal muscles sequentially in descending order-

[- Pectorals Major [I- Rectus abdominis
H1- Gluteus Maximum IV-Gastrocnemius
Code :

(1y 1L I, TV (2)  HI LI IV

(3) IV, LILIN (4} I, I, IV, ]

35 P.T.O.
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91.

92.

7T AEtEa § SFEY e F Ag g2Er 2o

(1) ey (2) T A
(3) afagtan (4)  Trayfd

Professional ethics in physical education includes-
[- Moral Values [I- Judgement
I1T- Physical fitness IV- Sincernty

Find the correct combination ;
(1] landll (2) [ andll
(3 Tand]IV (1) [landlIV

o7 [91aT F =T, 309707 o 8§ onfger & -

I At g - o

- ST &HaT V- e

:‘_-i.?:_‘l -'\. :rFII-. _‘ 5

i1 1377 1 (2] 11407 1
| 37 IV U i el

Arrange the following phases of hitting a ball in order of sequence of
progression.

[- Hitting II- Stance

I1I- Back hft IV- Follow through
Code :

(1) I HEL L, TV (21 IIL BN I

(A LN (4) IV, I, NI 1

34



87.

88.

89,

90.

18P/222/13(i)

Blue print of team competition plan 1s called

(1) Tactcs (2) Skull

(3} Technique (4) Steategy
dm gfeaifreT @t @ @ SRE # Fed B o

(1) gfe (2] @hrere
(3) TR (4) TOrIfE

Which of the following is related to school health programme

(1} keeping health records (2} Health Research

(3) Controlling of diseases (4] Health services
f=fafaaa d 4 o 9= Qaerg @reg &dsg a8 o
(1) wEmem fTwre @ (2) @A FATHTH

(3) T e e (4) TR AT

Focus of physical education is ;
(1) Motion (2) Fitness

L) Man (4} Man in Mation

o
E

ST 197811 &1 H=E 999 &
(1) e (2] et =EE
(3) HAA (4) Tfgefis =g

Transition period in training cvcle aims at :
i1] Recoverv (2} Peak performance

(3] Competition (4} Super compensation

33 P10,
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85. Find the correct combination of measurements related 1o pame of

hockey :

[- 120=80 vds H- 100=60 vds
II- 12 yds IV- 16 yds
Code :

(1) 1&1I (2] HI&IV
(3) 18Il (4) &IV
o & @d 4 gaftad 5t g Sfue wuaee -
[- 120%80 77 [1- 100x60 7TF
HI- 12 T3 V- 16 TH
HE )

(1) 1 377 11 (2) I 37y
(3) 1 3T (4) I 317 [V

86. Arrange the following steps for managing a Sports programme :

[- Budgeting II- Directing

I1I- Planning IV- Staffing

Code :

ELY 3L BT I 5T I %

53 R (W ] 5 O (4] I, TH

O Wl BEHH P AT FIT B GO0 F Gl B A2
[- asfe o - Mas=

- = V- A= i g
FE

(1) ILILL IV (2] ML IV NI

(3) 1,010, 1V (4) IV, LI

32
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83. Arrange the following measures of variability in a sequence

84.

[- Standard deviation [I- Range deviation
[I- Quartile deviation V- Average deviation
Code :

(1y I, IV L (2) 0,10, IV,
(3) IV, 1L 1 (4) IV, 1L, HI
Fr=feriad faeem |rat it HAgar sgaftad S
[- A faee - 9rE faeer
1~ =rqef A V- 3frge faees
HE

(1) 11,1V, I, | (2) I, 0LV, 1
3y 1V, LI T (4) IV, 1L LI

Fat soluble vitamins are-

I- Vitamin ‘A’ il- Vitamin B’

Il- Vitamin 'D’ V- Vitamin C'
Code :

(1) [ &Il (2) &IV
(3) &IV (4] [&IV
aar ¥ gemefe faefaa 8-

- faafs o - fEefes &
[1- e &y - fgerfim v
FHE

(1) &Il (2) 11 &IV
(3) HI&IV (4] 1&IV

31 P.
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80. An cctomorph individual has a

81.

82.

(1) Thin and slender frame (2)  Bulky and stocky body

(3) Muscular and athletic frame (4)  Body beautiful image
U UFEIHTE A 8NN
(1) Tde Ug gaen 9TiIy (2) ATl ug Hray o

(3) WES Ud g AEE T (4) 9 &1 ey ofy

The heart muscle is called ;
(1} Pericardium (2} Endocardium
(3] Myocardium (4]  Epithelium

e

829 F1 qrE9sht &t F=d &

(1) TireRie (2) TTSERTEAH

(3) AT 4] TS
Exercise related stress fracture oceur in bones

(1) Below the knee (2)  In spmal column
(3) Above the neck (4} In the arm

AT G4 TH-haay sfegal o gar g o

(1) gt & = (2) g = gedr A
(3) TET B FIT (4] API H

30
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77. The clementry school education curriculum should stress on

78.

79.

(1]  Skill education (2] Awareness education

{3) Movement education (4] Fun education

uriees faemerdl @i e # aeged § fefafaa o Sr 397 afze

(1) =gt faren (2) TNTEeRaT faren
(31 Tfasr farem (4) FHIE-gHE f9ran

The best method of sports administration 1s -
{1} Autocratic (2} Democratic

(3}  Dictatorial {4} Laissez-fair

Eel 99 @1 4w TaEld B o
(1) FE=rErl (2) WATA=H

(3) dTHIMED (4) wWEA

{n ‘Set’ command the sprinter is m

{1) Stable equilibrium (2) Natural equilibrium
(3] Unstable equilibrium (4) None of the above
F7 urges Fe HwATs 97 G Ruafa 7 war g 7

(1) Rew dga= (2) eI HJeA
(3)  SAReT HJe (4) IT0T A J w2 A

29 Pl
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74. Cardio respiratory efficiency is best measured through -

75.

76.

(1]  Indiana motor fitness test (2)

(3] John Methany test ()

Harvard step test

JO R test

834 - 99UA &N HEY Iad Fad ordt s 2o

(1) zfzamr |Je7 feaas gfvzor ()
(3) FAF Heer gfvemop (4]

Median 1s a measure of central tendency. 11 is considered as

(1) Average of the score
{2) Most frequently occuring score
(3} Value in the middle

(4} Sum of all the scores

®2 9w AT W OOFE g9 dfzua E)ozd wmer "

(1) ¥=R7 FT A (21
(3)  HIZFHT ()
Insulin 1s secreted by -

(1) Liver (2]
(3) Pituitary (4)

(1) ey (2]
(3) feg= (4)

28
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Pancreas

Thyroid
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71. The main role of physical education teacher is identified with a :
(1) Leader (2) Planner
(3) Manager (4) Motivator
A fren # forrs #1 ST7E fve @) qEe Bea W A 2 o
g
(1) e (2) FTAATHIT
(3) wdHE (4) HiHUER

72. Identifv the arca which is not so required to be successful in teaching

profession :
(1) Communication {2) Instruction
(3) Social service (4) Human relation

fo1e1v1 =gaa™d F AFAd] F o 3T =gegs A8t B
(1) HH9oT (2) ITRY
(3) AHTH A4 (4) AHEE Ha

73. Purposc of the test s meanursed through ¢
(1) Reliability (2) Validity
(3) Objectivity (4) Split-halfl method
QAT 1 GATST fhad AT § AT Sar g 7
(1) faogamEgm (2) dgar
(3} AT (1) == v qEe

27 | g P
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M=ifdfaa & 4 $F @ sner ad ofit § amg 3en 55 3ar1 181
-

| I [ e

[l a7 AR E 15 b B 1 1
G

(1} 1377 11 (2) 113 1
(3] 1377 v (4 13T v

70. Internal load is judged by

- Load volume II- Pulse rate

IIT- Load intensity iV- Lactic accumulation

Find the correct combination
(1} land IV (2} Iland ]V

(3} Hland IV (4] 1land I

AR a1 F1 g F1 AR B-

- 97 9fHmT o 1 Je9 32 3

[11- 977 drgar & v dfes ofas 3 ggear 8 A
(1) 10d (v (2) 1Hog v

(3} Mmog v (4) v [

26
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68. While constructing time table for Physical Education class, the factors

69.

1o be considered are

[- Institutions preference [I- Convenience of parents
111- Availability of facilities IV- Student's need

Code :

(1) Iland !l (2) IlandIV

(3) IVandl (4) landll

ordifvan faram 1 e & 93 9wy gQreoll g9 599 G gat 97 ¢
a9 =91 =FfeT -

[ H &l grafiesdr - ATHIEas F gy
- glaarsdt st Igetea V- faenieigt &1 aAaege
HIE

(1) 1137 11 (2) 3TV

(3] 1V 377 1 4) 13T 1

Which of the following components do not produce heat and energy

in the hody ?

I- Protein I1- Vitamin
I1I- Fat IV- Minerals
Code :

(11 landIil (2) IlandIll
(3) MNlandIV (4} HandIV

25 P.oLA
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66. Arrange the organs of circulatory system in a sequence through which

67.

Blood Tows-

I- Heart - Aorla

HI-Arterv [V-Capillary

Code :

{1y IV, 11, 1L 1 (2} 1, I, I, 1v
(3 II, 11, IV, 1 (4) ML ILT, TV

I F uaied BM # FW § qftdgsiv g9 F fefafma sini =
AT -

. 239 - TRTTH=]

- &1 V- e
e

(1y IV, UL, | (21 IV
(3} 1, 1LV, (0 LT LI

[n the quest of performance enhancement following tvpes of
(i)mp{tltmﬂs are plaved :

- Main competition - Build- up competition
- Minor competition IV- Major competition
Arrange the competitions in ascending order -

(1} LIV I 4 O T
(3 LI IV, 25 1 S B 6 PR 5

ey W o Awrrht &9 4 [ feifata wme A afeirr e
EISIN

I- e afaafar - amar fmror aftrifrs
-84 afa=ifay V-T2t ufagifEr,

29 giaa@arstt &1 aer #9 4 aattag i

(1) LIV, 11, 11 (2) IV, I, I

(3) 10, 01,1V, 1 () IV

24



64.

65.

18P/222/13{i)

Whirlpool therapy used in sports medicine include
1 Massage I! Ice packs

I Water immersion IV Infra Red
Select the correct answer :

(1) landll (2) landlll

(3) Il andIll (4) IlandIV

e wdlem o @y fafeear g Fr=ifaiad & & frmes gugn
feRar ST 8-

I wifer I am F A
o g # ogar & AV B -
(1) | a&r 1 (2) 1 @ il
(3) 11 e (4) I e v

Biological basis of physical activities involves

| sex and age I Growth and exercise
I Motor skill acquisition IV transfer of training,

Find the correct answer :

(1) Tandll (2) Ilandlll

(3) MlandIV (4) [Vandl
oI ey & dAgdst—s omaw F fofeg & -
1 for qen ey Il gies der ==
NEIGEE EIGRE PP R IV 9918997 &7 BT
A2 AT adqd

‘1) LT 0 (2) 118 11

20 a9 v (4] IV a4ar |

23 2.T.0.
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62.

63.

Arrange the organs of respiratory svstem in descending order

I Nose I Larynx

HI  Trachea IV Lungs
Codes

(1) 1LV, I (2) IV, 110, ]
(3) I1, 1M, IV, | (4) I I, IV
qEETT A9 % A6 A araiel w4 agiied i -
[ T, &,

Ul SAT AT, IV ®FE

23

(11 | LIV, HI (2] AR
(3 1L, IV, (4) LI 1LY

The objective means of judgement of training load consists of -
] 0OXygen consumption lI- Dryv Lips
11 sleeplessness IV lactic acid concentration,

Find the correct combination -

Code :
(1Y TandlIl {2) I and !l
(A U and IV (41 lTand IV

PIETR R I A G 1k B i P 5 |5 i 122 M B e

St | e L e 7 e e N g e
A= vV dfes ofgs @& s,

HE AHENAA G FY
Tl

(1) 1377 1 (2} 11 37 11
(31 T3 IV (4] 137 v

22
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60. The ability to exert maximum muscular force in minimum posible

61.

time is called :
(1) Muscular power (2) Muscular endurance

(3] Muscular strength (4) Reactive strength

gaanﬁﬂiﬁﬁﬁiaﬁiFﬁnlﬁ~mﬁﬁﬁi%aﬂﬁaaaawmﬁﬂiﬁﬁr%,aﬁ Fed
(1) Hragsfia g (2) #rauefa geashiear
(3) Hravefm etk (4) wfafwar ofag

Following test are used to measures strength of different forms :
I Sit-Ups
I  Squat Jump

Il Medicine ball throw

IV Pull-Ups

Among them strength endurance is measured by
(1) landlIl (2) Hand Il
(3) [l andIV (4) landIV

fata=1 a9 F1 of s o= & o Fe=afaiEa et a3
fepaT AATAT & 7

I fHe-a3m

1 e 5

m AR 3

IV -3

=1 & drehd geaeiEd Brgd ard A @ o
(1) I ae I (2) 1A Il
(3) 1l e v (4) 13T 1V

21 P.T.O.
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S7. The use of particulir method of teaching depends on
(1) Skl of the teacher [2) Sex & age of the teacher

(3] Nature of activny (1 Qualification of weacher

T A A9 G o ey S| P

(1) 14121 1 HAa (2] Toraes #1 9917 g feia
(3) FRaTRETT @ ey (4} T91ErER A gEman

98. Time taken for a movement o oceur from its initiation 1o 1S termsn:tion
15 called :
(1] Reaction Time (2] Reflex time
{31 Movement ume (4]  Response time

FhdT & 9T W A aF F HHT Fl HEl Ak 2

(1) dfaisar g9 () ofagd g
(3) HFIHH A9 ETD Hfﬁ‘r_fﬂ T

59. Hehool health programme does not inciude
(1} Health instruction (2} Health supervision
(3) Health service (4} Health research

el wEEE REEA H A atstaa q@l s

(1) T@R=A 3Tae0 (2) T T
(3) == HAT (4) TEEA FFHAR

20
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54. Calorie 1s the measurement unit of :

55.

56.

(1) Liguids (2} Heat
(3) Solid (4) Fat
FAH FT AT Hl THE & 7

(1) z= (2) 3o
(3) 214 (4) aar

Professional preparation of physical education teachers is governed
by :

(1) U.G.C. (2} AILCT.E.

(3} N.CTE. (4) N.A.CK.

gidifeer forem & forersrt & o =mgamgs aordl &1 @F-d1 Heen
afeefera @ 8 7

(1) FoiiteHlo (2) To3dEodlodloo
(3) Q?oﬁoﬁoéo (4) UHo Uo dtoo

Mode is the measure of central tendency. It is considered as :
(1) Average ol the score (2) Value in the middle

(3] Most frequently occurring score (4} Sum of all the scores

FE ugfcd HI A H TH TR GEATH °, IH FHeT AT B
(1) TR F 3TEd (2) HeEHE

(3) &7 g% 3 gren 3 (4) €@F 3AH F A

19 P.T.O.
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AT 0T 9] HYA4] & 7

24 FTHEI F1 ATFR-371xHe gfFTimar £ gem "3 7 A0 ) ey

(1} [EEEes afss (2)

(3] FIETE] (4)
51.

teams will be :

(1) 7 (2) 8 (31

erl

(1) 7 (2) 8 [3)
52. The Heighest Training load is called -

(1) Minimum

(3} Maximum

HITRAH T U7 F Fed &

(1) Fr=am a7

() lEER AT

53. Milk, Butter and Ghee provide :
(1) Vitamin B & C
(3} Vitamin A & D

gel, A ug o § fHedr ® o
(1) fE=ifaa 41 og =

(3) faafas o ug 2

18

2}
(4

(2]
()

(2]

(-]

A
FTETATTH

Number of matches in first round of knock oul tournament of 243

12 ()

1.2 4]

Over load

Normal load

ATe417

T 479

Vitamin E & K

Vitamin C & L

Fyoifer 2
a1 d g 2

ug %
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48.

49,

50.
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SifFes ufges’ ST B O = 3 @ e ) Rafa Y el B 7
(1) AT (2) ™R

(3) 3TUH (4) T

The strongest muscle in human body is :

(1) Quadriceps (2) Rectus femoris
(3) Biceps Femoris (4) Lattisimus Dorsi
qIE oY # gad s aifFenett st @

(1) TR (2) IFed FHEH
(3] agH Fed (4) wfefaag S
Blood is oxygenated in :

(1] Muscles (2) Lungs

(3} Heart (4) Brain

v fhE | umgE arg g g o7
(1) dfgrat H (2) PmSt H
(3) =g H (4) femmr o

Total number of matches in league tournament of 8 (Eight) teams will
be !

HZ (8) el & &rT gAtA= H e f9 @ g9 enf
1 12 2) 25 (3) 28 (4) 15

‘sargent Jump' meaaures
(1) Explosive strength (2) Speed
(3} Agility (4) Flexibility

17 P.T.O.
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44,

45.

46.

CSNY TS W T AR S FERT ®, 9 A 30 e men s
Hhd" e ddfag B oo

(1) 494& w1 fagm (2) FUART F HEH

(3) @Il F1 I (4) S AT fuy

Gluteus Maximus' muscle is situated in -
{1}  Thigh (2]  Arms
{3} Lower leg (4) Hip

rgtegy Afepraa qoft a7 feem B o7

e im

(1) A (2) =TT
(3) A 70 4] e

Top form’ in sports mainlv depends up on ;
(1) Training (2) Psvchological himn

(3) Diet (4]  Equipments

-~ -

A H 3 EoiE g BEe 9 aenfes B¢

(1) dfeTaroy (2)  WTTEE H
(3) 3TMETE (4)  ZAHTT

Which of the following condition occur due to accumulation of Lactic
acid’ ?
(1} Freshness (2) Fatigue

(3] Relaxation (4) Drowsiness

16



41.

42.

43.

18P/222/13]i)

Aty & o2 § o s gus ¢ 7

(1) @ (2) =TT

(3) &9 (4) #Hera™

Spirometer is used for the measurement of :

(1) Blood pressure {2] Pulse rate

(3) Vital capacity (4) Oxygen intake
ogHrey = A7 |/ R A & [ s fear s g 7
(1) 7= a4 (2) AT T=A

(3)  agETg (4) SMEETA T8Y AHET

el

The profitable rest period is utilised in which of the following training ?
(1} Weight training (2) Continuous training

(3) Interval training (4] Fartlek training

e d 9 farg ofdraor 4 s &6 Basrd safe s sggi B
AT E 7
(1) HIv FierET (2)  FId FeTE

(3] 37T afgreror (4) FIdda ufararor

You can lead a horse to water but vou can not make him drink” is

related 1o :

(1] Law of effect (2) Law of use

(3] Law of readiness (4} Law of exercise

15 P.T.O.
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siteng 5 e FH-a1 Jdt g 7

(1) dereer &l f=ram (2} 99 # oy
(3 gt w1 (4) s &1 fFam

38. sStadiometer 1s used to measure
(1)  Bodv weight (2] Height
{3)  Flexibility (4 Agilits
“egEET w1 oaght AT F o e e 2o
(1) ST FEr aAA RISt

(3] AT (4) =9

39. The tuctor which is net considered as a component of training loud 15
(1]  Intensity (2] Volume

(3]  Density (4] Diet

QORI 0T E ANIE, T AT AR 8 AR AT ¢

L) AT (2] MTET
LAY T (4] Hep

40. What does the nings of Olvmpic flag indicate ?
(1)  Colours (2) Rivers

(3) Countrices (4) Continents

14



35.

36.

37.
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oA H gau A w1 FEm ween @ o
(1) Srgdr =1 fas (2) O &1 s
(3) wfafsar @& fFam (4) TEEEREYT F I

Kyphosis is the deformity of vertebral column at
(1) Thorac region (2) Lumber region

(3) Cervical region (4) Coccygeal region

HEAT FHATDH! TH & fhE A o faghy & °
(1) dg&a &+ (2) HeE=
(3) I &= (4) S &=

The term efflurage is concerned with :
(1} Training (2) Coaching

(3} Exercising (4) Massaging
wE o fRaa Hafug ® 7

(1) wferqor (2) @i
(3) SATE™ HTl (4) HEA FHEAT

Which is not the law of learning ?
(1} law of readiness (2) Law of effect

(3) Law of reaction (4) Law of exercise

13 P.T.O.
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31.

32,

33.

34.

Which of the following 1s not a funcuon of management 2
(11 Planming (2] Union leadership

(3] Directing (4] Co-ordinating

=1 8 3 F19-w 99y4 R g 98t 7o

-,

(1) ar (2) FFEA g
(3} e (4} AH=T

Cause of muscle cramp 1s ;
(1} Lack of Co-ordination (2}  Hvperventilation

(3] Accumulation of lactic acid (4] Poor flexibility

J9fl 0= FOFIT o

(1] AH<GT FT 394 (2) IEfTE ATy A
(3) AF=a 3Tl @l Hdy 4] FHAN SR

Exponent of cathartic theory of plav is :

(1] Aristotal (2) Sigmund Freud
(31 Carl-Gros 4] Von-Schiller

e R & AN o8 | R TR Ee T B A 1 b =

th HITE (2) TTTE T
(3} FTET-TT (4)  A-farEeT

Newton's second law of motion is known as
(1] Law of Inerta (2) Law of acceleration

{31 Law of reaction () Law of graviianon

12
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28. Which of the following game does not provide time out during

29,

30.

competition ?
(1) Volleyball (2) Football
(3) Handball (4) Basketball

fr o 9 fom @9 d gfoafar @ a9 eeg-arse & grgyE =8t
g

(1) gt (2) g

(3) EsdiE (4) ditheda

If the distribution of scores 1s symmetrical its mean and median will -
(1) be the same (2) over shadow the mode

(3) stand poles a part (4) Not coincide

gfE 3! @ T uhEsdg 8 a sEar Jrey I qege 2
(1) 42 (2) d@BES IFTBIed
3y == o srfes srEETEar (4) AT F HET T AE 2

Which of the following is not a test of cardio-vascular endurance ?
(1) Tutle pulse ratio test (2} Philips JCR test

(3) Harvard step test (4) Run-walk test

Frt & & SF-91 T FIEA-Jgar Fe-eitaar &1 gierer Tt
e 7

(1) =Zed T I e (2) fpfer Fodlodmro Titar
3) BHEE =Y gheor (4) TH-dTh Tiee]

11 P.T.O.
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25.

26.

27.

qyc H A1 I YE eR A A Fel A 2

(1) AfFe (2)  “Rfseiiga

(3} f2a1 a=n1 e I G L k|

Tral and error learning is also known as ;

(1) Organised lecarning (2] Sell learning

(3) Instinctive learning (4] Informal learming

9 ad Jfe st F e o Aed o
(1) =zaftag safam (2) = FferTe

(3] Hemgiea i (4] IR STl
Health of a person is significantly influenced by

(1) Routin (2) lLife swele

(3} Attitude (4)  Aptitude

AT & e #i st gwfas FwEr 8

(1) FEe=gl (2] Am@E 9=

(3) gty (1] BT

[sotonie contraction can also be called -

i1} Dyvnamic contraction (2} Staue contaction

(3} Concentric contraction (4) Ecceniric contraction

AHIEF dgaa # g8 of Feq ¥
(1) Tiasier daae
(3) = dHaa

10

(2} e wgead
(4)  FHEHTTE H 4



21.

22,

23.

24.

18P/222/13(i)

Flexion and Extension occur around :

(1) Medio-lateral axis (2) Anterio-posterior axis
(3) Vertical axis (4) Sagittal axis

dagad AR fawar 8a 8

(1) \eA-qred 3787 (2) TG 9T 378

(3) He I (4) warfrarel o

Harward step test mean uses :

(1) Muscular efficiency of knee muscles
(2) Cardio-pulmonary Index

(3) Cardio-respiratory efficiency

(4] Respiratory pulmenary Index

(1) gea &t "rguefa gwar (2) BET-HHE gIiF
(3) BET-999 I (4) FEI-HFIE gHE

The first member of International Olymic Committee from India was ?

(11 G.D. Sondhi (2) Raja Bhalinder Singh

(3} Sir Doraby Tata (4) P.M. Joseph

qd & oY § I anatas FHE & gud §ee i o 7
i1 Todlo Hrht (2) o wfe=T e

13) {Y DG 2TET (4) do UHo FHEE

Free hand exercises done qeuerally in groups are called .

(1) Circuit training (2] Callisthenics

140 Drill & Marching (4) Weight traming

9 P.T.O.
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17.

18.

19.

20.

It height and weight of a person are ToU c.m & 64 kg, respectively, b

ponderal index will be
(1) 35 (2) 45 (2] 50 () 30

gtz el aafra 1 3mE aw g3 FHE 160 e od i

g, d IHFE TETE = BT
(1) 35 (2] 45 (3) 50 (4] U

Variable that usually consists of whole number unit is -
{1} Independent Variable (2] Discrete Variable

(3} Dependent Variable (4) Continuous Variabl
FAed o &@w=r St 81 39 397 & %ed § o

(1] add 97 (2) TJUF Y

(3] SVE =T (4 77 =7

Acquition of motor skill mamnly depends on -
(1} Coordinative Abilities (2}  Flexibility
(3)  Speed (4] Endurance

A Fere gra Fer 9 7 @ fEw oqv sy B

(1] #FH=T9 THIH] (2] ST
(3) A ) AR

Which of the following s health related fitness component >
{1}  Reaction ability (2) Agility

(3) Speed (4} Muscular endurance
=1 & 9 #9 @1 @nzg | ddiag 28/ &1 9% & ¢
(1} wfafmn g (2] ™=ITIC

(3 rfa () "9 Haqori

TR0
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15.

16.
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TS, ATEIE qu7 CFerHtE @ w9 § o & aMieT Read
AR E IR 2 1

(1) Haa? (2) 9

(3) el (4) HTE

Which of the following is known as building blocks of the body ?
(1) Proteins (2) Carbohydrates

(3) Vitamins (4) Minerals

= 8§ PE-91 a7 # T2A HE & 7

(1) e (2) HETEEZLH

(3 faziaq (4) fFTes

The test of significance used for comparing two means is :

(1] 'F test (2) Chi square test

(3} "Z test (4] 't' test

I JeAT & g & o S "Rl gdwer gan e S 8 o
1) F R (2) T FRIFT T

3} Z T (4) t e

Which of the following is not a criteria of a good test ?
(1) Objectivity (2) Subjectivity
(3) Reliability (4) Validity

1 § | P a1 IH GHE0T H A9EUS e g 7

(1) axgir=an (2)  SreafTeEr
(3} fasaatram (4) e

7 P.T.0,
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10. Which of the following is not a technique of supervision ?

(1] Visitation (2]  Get-together
(3)  Conference (4)  Workshop

o1 F 3 Fe-d1 wm@@e 1 g T8t 2 7

(1} & LA (2)  USHEA w147
(3) H=EH (4) RN

11. Which of the following Vitamin is water soluble ?
(1) Vitamin ‘A (2] vitamin ‘B

(3 Vitamin 'E (4)  Vitamin K

b 513 &= [ faafag g O geeofie £ o7

(1) fa=ias A (o) (2) F=f= B (4
(3] TA4NHT E (F) 4 faats K (F)

12. High blood suger level is controlled by :
(1) Glucose 2] Thyvroxin
(3] Insulin (4) Adrenahn

3l T STREIT W AT BEAA FERm S ¢ o7

1) TR (2] AT
[3) Efﬁfivfi 4] snfzaa

13. The classification of body types as Endomorph, Mesomorph and
Ectomorph is given by :

(1) Kretchmer (2) Sheldon
(3) Plato (4)  Aristotle
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06. Haemoglobin is found in :

(1) Red Blood corpuscles (2) White Blood corpuscles
(3) Platelts (4) Bone Marrow
gmreifas fg o g A e 8 7

(1) Iz =T AT (2) =®Ee =5 FRITH
(3) weded (4) @ AN

07. If we toss three coins probability of three heads will be :

afx gw i foanl & Ied @ d9 B3 o F wemEe fpae
et 7

i 2 3

(3 - 3) 3 4 3
08. Which of the following is not a research tool ?

(1) Stop Watch (2) Video Camera

(3) Questionnaire (4) Survey

< J | &IF E1 9Ny IYHIT A8 & 7

(1) =g am= (2) difzar Haa

3) A (4) T

09. Blood from the right ventricle of the heart 1s taken to the lungs by :

(1) Hepatic artery (2) Renal artery

(3) Coronary artery (4} Pulmonary artery

% & I g |/ @ & g o (ywet) 2 et a3 & S
A 7

(1) gafEs aredh (2) = A

(3] A A (4)  9EEEA e

5 P.T.O.
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e,

AT 91 sl ot 97 giiiga #1owr oo

(1) 79491 ug T (2) =14 Udg HaEAl
(3) fTHT OF 31T (4] iy ug oA

03. Theory of insight learning was propounded by

(1} Thorndike (2)  Pavlov

(3] kohler (4) Cattell

At & i e &1 afgae e e 2
(1) =riemEs (2) JEg

(3) FIE TG~

04. During strenuous cxercise, the major reason for on set of fatigue s -
(1) O, debt {2)  Depletion O

(3] Lactic acid formation 4]  Increase of Co, level

FHIT A & ARG 9ehd2 361 & H J&F 0§

(1l 0, 2= (2) O, F &R
(3) ==k ufie = s (4)  Co, 797 = FzA

05. Newton's third law of motion can be primanly uscd 1o explan
(1) Running & Jumping (2} Throwing & Catching
(3) Kicking & Hitting (4) Bowling & Batting

I & R e e e e @ B @ R & R i
e B

(1} 7= ug sfege 2) e od Bfei

3) P o fefem @) R o A
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No. of Questions : 120
YAl Shi &A1 : 120

Time : 2 Hours Full Marks : 360
gug : 2 que yuts : 360

Note : (1) Attempt as many questions as you can. Each question carries 3

01.

02.

(Three) marks. One mark will be deducted for each incorrect
answer. Zero mark will be awarded for each unattempted

question.

wfagrfas g9 Al 8 HH B @S FH ) TGP 999 3 (d9)
Sl W B HEH Tad IO H G CF ofF Frer A
Uedeh STYAIed U9H W UTdih T BN |

(2) If more than one alternative answers seem to be approximate to

the correct answer, choose the closest one.
HEl 397 |

India participated in olvmpics in the vear :
qrd A slargs H g ad | e ferar 7

(1) 1896 (2) 1928
3] 1904 (4) 1918

Bones of human body are classified on the basis of :

11 Structure and Function (2) Location and Attachment
|7 Shape & Size (4) Joint and Movement

3 P.T.O.
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